QUIZ 2  MAS 3106 (1) Spring 2015  NAME (print) Soluction

No aids are permitted. Show all your work. Correct answers with little or no supporting work

will not be given credit. Write legibly.

1. (7 pts) Determine if the vectors are linearly independent.
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A Hws point. i1t D clear hot there are thiee bouin variablus awd no free variobly

fo the equalion () hou only the triviod solwdtvu, namely X =X =X;=0, omd

the 84.Ven vectors (e h‘neml)l mdependevut. @

2. (8pts)Lete1=[(1)],e2=[(1)],y1_—.[§],y2=[_61],andletT:R2—>R2bealinear

transformation that maps e; into y; and maps ez into y.. Find the images of [ _53 ] and [ 21 ]
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